oS oA /BAC = 90°, AB=5,BC =
8 0|1l DACDE = AAHZ4E Y o, nACDE
o] Ylo| & “totofet,

AC = V82-52 = \64-25 = V39
. (DACDE) = V39 x V39 = 39
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3. ohe a"a e Az ABCD oA AP = BQ = CR = DS ¢
o, DABCD 9t oPQRS ©] Ho] o] &2 Fstofe},
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AQ= V-2 =15

- PQ=v5-2

(OPQRS €] Hol ) = (V5 -2)?
=5+4-4+5
=9-4+v5

(OABCD ©] Ho]) =9
o (ol &) =18-4+5




4.  ohe a3} o] .C = 90° ¢l AZAZHE ABC oA AD +BE- = 21
2

o |, DE® + AB® & Fsfoiat,
A
E
-
C D B
» g
> ®Heh 21

DE’+AB = AD  +BE’ ©]2& DE° + AB- = 21




BF = FD
~BF=16-6 =10 = DF




